Test 7 Name

Calculators are not allowed on this portion of the test. Answer each question in the space
provided. Show all work for full credit.

1 Given P(x) = 4(x + 9)*(x - 2)(x — 5)°:
2 A What is the degree of the polynomial? L&

| B. What is the leading coefficient? g!

QN
.- C. What is the end behavior? i

_, D. What are the x-intercepts and how does the graph behave at each of the intercepts?
(-9, o) (2,0) (>5;0)

) ol ) | ek
bounce Py o e

2. Given y = -3x(x + 5)(x + 1)(x — 3)*:

7- A. What is the degree of the polynomial? S~

B. What is the leading coefficient? —3 /?\

- 'l Ul ] L I ‘ = 1
S 'lb_ax -4 - _/“H\ Z;‘ .'\ “
‘2~ C. What is the end behavior? N S /)

"D. Sketch the graph.

;3;,. Draw a sketch of g(x) = (x + 4)*(x + 2)(x - 3)°.

4. Given the graph shown, answer the following questions. The scale is 1 unit.

L A. Ts the degree of the equation even or 0dd? €524 o

| B. Is the leading coefficient positive or negative? /1 2 20 1\e l WL




5. Write the equations of the graph shown below.

: N\ . 3/ N2/ 2\

A 774:(>(+ ) xt]) (x-2)* g;<~‘+) B Y=Y (x+]) (x-2)(x-3)
4
/ |

//B. The vertical asymptote(s), if any. X=0

| C. Holes, ifany. X = ~2

2
7. Given f(x) = 22X %L g,
x+1

7 A. Find the vertical asymptote. X = ")

. “IJy 2 - | ;) ‘gr }
2, B. Find the slant asymptote. U=XXF DS et -3 -2

8 Solve (x + 6) (x —2)% (x = 3) > 0 symbolically. Show the sign chart (or rough sketch) you
used.

l\,@

/
(-s0,7¢)

‘w_y_.‘}_,,bg,_ﬁ_,“‘, p— } — 7

(o g

\\'e S



9. Perform the indicated operation and simplify.

~ \ 3 N o
>4 % -Q( \ >Q§’+3 “N ¢ // -,Lf\i* |

,{f/\w / /2= \ /] / )

452 —2x; 10x-5
x2—-16 6x+24

o) Sx+3 x-12 L}x.}.}g—
x+7 x+7 -‘7'-}’-—7——’
) D) 7 3

+
y2—4%+3 2 =1 -
%(—O,AOJ. \_)(:j ) g

7. 10. Use the graph shown to solve the inequality.

f(x) <0  Solution: (—2 ) I> &

-‘-'__._-

%3

-—-—-""'"







Test 7 Name

Calculator Part: You may use your calculator on this part of the test. Be sure to show all
necessary work for full credit.

4 1. Solve for x: : = 9
x+6 x-3 i
WX,&} - Q;X"'SL'}
=K"= ¥1S
T
Y —= -,—-i

2. Solve |2x + 1| < 7. Show work or explain how you solved.

-7 £ ax+V <)

-8 £ 205 (o Z;L/)S]
~4¢ x€3

3 G Fl
x+1

, find:

7/
2 A. Horizontal asymptote (if any): %ﬁ 5y 3 //t

ol
7~ B. Vertical asymptote(s), if any: X=- i =T [+ + p;'/;:—‘—‘-:r -
e
7~ C. The y-intercept. 0. A |
V

~ D. The x-intercept. | _2/ 3 ) D> |

2 E. Sketch the graph.

4. Don and Julie are going to paint the picket fence that surrounds their house today. Don can

/_+ paint the fence alone in 12 hours. Julie can paint the fence alone in 9 hours. How long will it
take them to paint the fence together?

PN
W



A

5. Afully loaded train travels 16 km/hr slower than an empty train. The loaded train travels
440 km in the same time it takes the empty train to travel 600 km. Find the two speeds.

9403 = oS —3600

Y «) - o
O \_ - rCQ < =Sl Y D
o _ koc e e
:x = /(D e

= LO XY, .C/A/L/QL‘/

1/171 O S - L,?O\D (\S ¥ /{0> oy ;,‘,',,ﬂ / :
/7/9 Al Jhv -)Cv‘}u//

6. The math club decides to sell t-shirts as a fundraiser. The club spends an initial $80 on
designing the shirts and setting up the printing process. In addition, each shirt costs $ 6 for
the labor and materials.

A. Write an equation for the average cost per t-shirt as a function of the number of shirts that
% are made.

77} -+ (Dm
0. 80+

B. What is the horizontal asymptote? Interpret the meaning of the horizontal asymptote in
2 context. b e e
t y = (o v"/ia averag oo Cfppoacare
' Bl [shurt o8 Hay make more
< h -

7. You bought a small bag of M&Ms with 17 blue out of 70 M&Ms. If you bought a bag with
520 M&M’s in it, how many should be blue? Write a proportion that models the situation
and solve it to find the answer.

17 X
7o - 520

TTOX= 17(5““"7))
JTOX = ¥§90
X= 126 blue



[QLO Test 7 Name
Calculators are not allowed on this portion of the test. Answer each question in the space

provided. Show all work for full credit.

1. Given P(x) =3(x + 11)*(x - 2)(x - 9)*:
-2 A. What is the degree of the polynomial? @

| B. What is the leading coefficient? 3

- C. What is the end behavior? l 7

D. What are the x-intercepts and how does the graph behave at each of the intercepts?
(-1,0) (2,00 (9,0)

) oole
&6

Roonce  Throuwghr

o

2. Giveny = -3x(x + 4)(x + 1)(x - 2)%
7). A. What is the degree of the polynomial? S

l B. What is the leading coefficient? _—5

"2~ C. What is the end behavior? /}\ \1/

4 D. Sketch the graph.

3. Draw a sketch of g(x) = (x + 4)*(x + 1)(x - 3)°.

" P

4. Given the graph shown, answer the following questions. The scale is 1 unit.

2 A. Is the degree of the equation even or odd? £ /\\
Y

(};w

”). B. Is the leading coefficient positive or negative? _ |




5. Write the equations of the graph shown below.

P{ (}/‘f'of)(

\2 /

)‘K’y(xzé) YB. Y=

6. Given f(x)=
x% +2x

Tx+14

, find:

)

- (D x-2) (x «‘“)

2 A. The horizontal asymptote (if any). U = (O

AN

3 -2 -4 i < 3

72 B. The vertical asymptote(s), if any. z =0

} C. Holes, ifany. ¥ = — =

7. Given f(x) =

2x% +x+3

, find:

Z A. Find the vertical asymptote. X = — {

2 B. Find the slant asymptote.|] = JY = l

gl

2 )3

8. Solve (x + 5)%(x —2)(x — 3) > 0 symbolically. Show the sign chart (or rough sketch) you

used.

+
3 3

(~o0,-5) (-5,2) (349



9. Perform the indicated operation and sunphfy

x? —2x-35 (X 7> (x5 ‘><~"7L

e i
25 ( y/} \\}f,\f_ ><

i p / . _/'( N
4x* =2x 10x-5 A X (Qx/fjw (X ) ] A X

4B "7 16 exeaa (x4 ) : 5’(;)4»4"1’3 T s (_><~‘4>

Q) 6x+5 x-12 _‘ _C\;D_’Z(__i:_]z
> x+7 x+7 T XJF7

4 K 3
y:—4y+3 y*-1

eyt 3 (g8 it b

G GV gy

4 D)

10. Use the graph shown to solve the inequality.

o 71—
fx)<0 Solution: ( AL )> S
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Test 7 Name
Calculator Part: You may use your calculator on this part of the test. Be sure to show all
necessary work for full credit.

,;fl. Solve for x: i 10

x—6 x43

Txral= JOx-60

L2, Solve |4x + 5| < 7. Show work or explain how you solved.

g ok s

32

3. Given f(x) = , find:
x+1

\\5

Z-A. Horizontal asymptote (if any): =1,
g /
v

/7. B. Vertical asymptote(s), if any: __, ’:""’} ElH + R 4=

) -
7. C. The y-intercept. Q#) ‘

L2 |
L-D. The x-intercept. ( / 5/1 O)

srr——s

g E. Sketch the graph.

4. Steve and Janet are going to paint the picket fence that surrounds their house today. Steve can

‘;’ﬁ paint the fence alone in 12 hours. Janet can paint the fence alone in 9 hours. How long will it
take them to paint the fence together?

- —

J

S



5. A fully loaded train travels 16 km/hr slower than an empty train. The loaded train travels
440 km in the same time it takes the empty train to travel 600 km. Find the two speeds.

| 440S = 600S —9600
"/,’%___ _ '
A" /60S = —2600

= go(sdfw) Co@k’“/ﬁf
H40s 2 b, Bt

6. A club decides to sell t-shirts as a fundraiser. The club spends an initial $80 on designing the
shirts and setting up the printing process. In addition, each shirt costs $ 6 for the labor and
materials. _

A. Write an equation for the average cost per t-shirt as a function of the number of shirts that

are made. y ; (9
O N
C= —pn

LAyyo (

B. What is the horizontal asymptote? Interpret the meaning of the horizontal asymptote in
context. /

7[_ !

7. You bought a small bag of M&Ms with 12 blue out of 70 M&Ms. If you bought a bag with
525 M&M’s in it, how many should be blue? Write a proportlon that models the situation
‘and solve it to find the answer.

Pz 2% 2
70 T S
70)(1 (L300

X =90 blue



